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Q.1) Which of the following is true for a cycle quadrilateral?

(A) One of the opposite angles is always acute
(B) One of the opposite angles is always obtuse
(C) Opposite angles are supplementary

(D) Opposite angles are complementary
I IS F e FE A Y - T suT Ta § 2
(A) TG B0 TV TH Yd g SV Sl |
(B) T BT § V Ueb g B BT 2 |
(C) THI IV HRP Bl |
(D) TR P10 XP BT |

Q.2) 9 & 9 HH 91 Sy afhd agd & e 93 3 |
(A) THIE D10 AV UdD B0 3P BV B S |

(B) T HIUN H Y YD HIVI JA DI BT |

(C) THT BT RS B S |

(D) TG HIU TR Bl § |

Ans. (D) GRE B0 FARB B ¢ |

Q.3) T THIR IqHS BT 3MUYR Yol 15 it 7T feferts 10 Tt § o 39bT & a
BHIT?

(A)150 g7 Tt (B) 75 a¥f QY
(C) 225 T It (D) 110 97 I+

Q.4) Angles of a quadrilateral are in the ratio 1: 2 : 3 : 4. The smallest angle of the
quadrilateral has measure:
R aqUT F P 1:2:3:4F AFTUA A E | TGS & T4 B BV HIATG -
(A) 45° (B) 36°
Q) 30° (D) 18°
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Q.5) 7 3 TR A B ATwE # 16:25 BT ST 2, A Beh B T et Pratham
3T & -
(A) 16:25 (B) 25:16
(© >4 (D) 4:5

Q.6) T & fyemuf
(A) MY A REREA G | (B) UH WX P GHgHIId #Rd § |
(C) U TR B 90" R PIEA S | (D) SWiad T+t |

Q.7) Two adjacent angles of a rhombus are in the ratio 4 : 5. Find the measure of all

its angles.

T IS & & AT DIV 4 : 5 & U H § | 39 TrHaqust & it Hion &1

/ |
5)/
Ax B

1Y 1A PIfTT |

Q.8) UG AGUT F HII5:7:7: 11 F SJUIT A § | YAD DIV BT AT I DI |
Q.9) T THAqYS &1 T fadul Yosii § § fddt U & T § | GHIqUs & HI07 &
HIY Tl b1 |

Q.10) I TH TGUST & BIT ((x — 20)°, (x + 20)°, (x — 15)° 3R (x — 15)° B, @l x BT
H 1 BIfoTY |
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Q.11) 3P H, D 3R E HH: Y ABC BT YIS AB 3R AC & A& fog § | afe BC o
= 10cmﬁ,?ﬁDE3lTﬂaﬁ%fQ|

g C
E 10 cm

Q.12) 3T&fd & AABC &1 YSTT AB &1 Hed fig D § 3R DE || BC § AC = 8 cm B, @ AE
DT HIH 7 DI |

Q.13) ABC U& Ayl g forad P, Q 3R R YST3if AB, BC 3R AC & L e foig § |
gfe AB = 8 ¥, BC = 7 T 3R AC = 6 It &1, dt APQR &1 Yul13ff & A 1
BT |

Scm Bcm
/P \/R\
B C

Q

Jcm

Q.14) U JHIR IgUS ABCD H, A = 62° GIR HIUI & HIY J1d DT |

D C
iy B
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Q.15) ABCD U&% THIGR IgHsl & foRiH 2DAB = 70° 3R £CBD = 55° | 8, <l
£CDB TYT 2ADB & U JTd HIoTT |

D,

559

70
A

B
Q.16) TH T IS HT TS DIV 72° § | ST AR BV & AT 1d Bifod |

A

Q.17) R ST fs T Igel & IRY Bl &7 AT 360° BT 3 |)

Q.18) Prove that the parallelogram an equal (or same) bases and between the same

parallels are equal in area.

Q.19) Rrg PIT {6 TAM MYR (T TP BT 3MYR ) 3R & FHR IW13HT & &g a4
Wﬁ@ﬂﬁﬁ'ﬂﬂﬂ%ﬁﬁ%

Y

Q.20) &WﬁﬁAABCWW18ﬁ2$WmW%|H@QﬂW DL &}
ST 4.5 91T §, < A BCD &7 3R J1d HITOT |

VA
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Q.21) 3MHfA & A ACD FT &%d 8 a7 It § | fS EF = 4 1t B, @ Wik Iqa
BCDFE T 850l JTd ITMT |

A E D F
- - -

Q.22) 3THTd & AABD &1 850%d 24 71 IHT § | AfE DE = 6cm TUT ABIDC, BDIICE TT
AE || BC B, al
(A) THIR ISt BCED T 2fiefeia F1d Hiforg |
(B) THICR ST BCED T & T HIoTT |

A D

B c

Q.23) 3ATHfd T 3Mad PQRS & AUl T IR Pl foig O W Hfdwdg dRd & | afg
£ROQ = 40° g, Al 2OPS &1 A JTd PIIT |

5
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